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Questions

THE WORLD BENEATH HIS FEET is a
Biography of

(A) Pullela Gopichand
(B) Nawab Pataudi
(C) Ajit Wadekar

(D) Sachin Tendulkar

Which state has passed ordinance to ban unlawful
religious conversions for marriage?

(A) Uttar Pradesh

(B) Madhya Pradesh

(C) Assam

(D) Gujarat

Which Indian advocate was appointed as Queen’s
Counsel (QC) for the courts of England and
Wales?

(A) Raahul Trivedi

(B) Mukul Rohtagi

(C) Soli Sorabjee

(D) Harish Salve

The Ministry of Agriculture and Farmers Welfare
recently launched the Sahakar Pragya Programme

(A) to train the primary cooperative societies in
the country

(B) to accelerate development of Covid-19

Answer
Key

(A)

(A)

(D)

(A)
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vaccine in the country
(C) to address the grievances of a common man

(D) for the beekeepers and honey collectors

Which country has recently appointed John Kerry
for full-time climate leader?

(A) New Zealand
(B) China (D)
(C) France

(D) USA

In question below, the passage consists of six
sentences. The first and sixth sentences are given
in the beginning. The middle sentences in each
have been removed and jumbled up. These are
labelled as P, Q, R and S. Find out the proper
order for the four sentences.

S1: An elderly lady suddenly became blind.

P : The doctor called daily and every time he
took away some of her furniture he liked.

Q : At last she was cured and the doctor
demanded his fee.

R : She agreed to pay a large fee to the doctor
who would cure her. ©)
S : On being refused, the doctor wanted to know
the reason.

S6: The lady said that she had not been
properly cured because she could not see all
her furniture.

(A) PQRS
(B) RSPQ
(C) RPQS
(D) RQPS
In question given below, a part of the sentence is

italicised and underlined. Below are given ©)
alternatives to the underlined part which may
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improve the sentence. Choose the correct
alternative. In case no improvement is needed,
option ' No improvement' may be chosen as the
answer.

If the room had been brighter, 1 would have
been able to read for a while before bed time.

(A) No improvement
(B) If the room was brighter
(C) Had the room been brighter

(D) If the room are brighter

Replace the sentence by a suitable single word.

A person who tries to deceive people by claiming
to be able to do wonderful things

(A) Trickster
(B) Imposter
(C) Magician

(D) Mountebank

Give synonym for the word ‘ spontaneous'
(A) well-timed

(B) willing

(C) instinctive

(D) instantaneous

Guide is to direct as reduce is to
(A) decrease
(B) maintain
(C) increase

(D) preserve

(A)

©

(A)
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Look at this series:

70, 71,76, _, 81, 86, 70, 91

What number should fill the blank?

(A) 70

(B) 71

(C) 80

(D) 90

Given sentence has an underlined word followed
by four choices. Choose the word that is a
necessary part of the underlined word.

The necessary part of a book

(A) fiction

(B) pages

(C) pictures

(D) learning

A is the son of C; C and Q are sisters; Z is the
mother of Q and P is the son of Z. Which of the
following statement is true?

(A) C and P are sisters

(B) P and A are cousins

(C) Q is the maternal grandfather of A

(D) P is the maternal uncle of A

Read the definition and all four choices carefully,
and find the answer that provides the best
example of the given definition.

An Informal Gathering occurs when a group of
people get together in a casual, relaxed manner.
Which situation is the best example of an
Informal Gathering?

(A)

(B)

(D)

(B)
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(A) The book club meets on the first Thursday
evening of every month.

(B) After finding out about his promotion, Jeremy
and a few coworkers decide to go out for a quick
drink after work.

(C) Mary sends out 25 invitations for the
reception she is giving for her sister.

(D) Whenever she eats at the Mexican restaurant,
Clara seems to run into Peter.

In a class there are seven students (including boys

and girls) A, B, C, D, E, F and G. They sit on

three benches I, II and III. Such that at least two

students on each bench and at least one girl on

each bench. C who is a girl student, does not sit

with A, E and D. F the boy student sits with only

B. A sits on the bench I with his best friends. G

sits on the bench II1. E is the brother of C. Which

of the following is the group of girls ? (D)

(A) BAC
(B) BFC
(C) CDF
(D) BCD
Two numbers are in the ratio 3 : 5. If 9 is
subtracted from each, the new numbers are in the
ratio 12 : 23. The smaller number is
(A) 27

(B)
(B) 33
(C) 49
(D) 55
The average weight of 8 persons increases by 2.5
kg when a new person comes in place of one of

them weighing 65 kg. What might be the weight
of the new person?

(A)

04-12-2020, 14:34
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(A) 85 kg
(B) 76 kg
(C) 76.5 kg

(D) None of the options

The price of 10 chairs is equal to that of 4 tables.
The price of 15 chairs and 2 tables together is Rs.
4000. The total price of 12 chairs and 3 tables is
(A) Rs. 3500

(B) Rs. 3750

(C) Rs. 3900

(D) Rs. 3840

The sum of the present ages of a father and his
son is 60 years. Six years ago, father's age was
five times the age of the son. After 6 years, son's
age will be

(A) 12 years

(B) 18 years

(C) 14 years

(D) 20 years

A and B take part in 100 m race. A runs at 5
kmph. A gives B a start of 8 m and still beats him
by 8 seconds. The speed of B is

(A) 5.15 kmph

(B) 4.14 kmph

(C) 4.25 kmph

(D) 4.4 kmph

OLAP stands for:

©

(D)

(B)

©
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(A) On-Line Application Processing
(B) On-Line Account Processing
(C) On-Line Analytical Processing

(D) On-Line Arithmetic Processing

How many root elements can an XML document
have ?

(A) 1
(B) No limit (A)
(C) Upto 4

(D) Depends on memory

In an email, the BCC refers to

(A) Blind carrier copy

(B) Blink carbon copy (D)
(C) Blank carbon copy

(D) None of the options

The HTML and HTTP standards are defined by

(A) IEEE

(B) Internet association (D)
(C) ISO

(D) WWW consortium

The major protocols used in Video Conferencing
are

(A) H.323 and RDP
(D)

(B) VoIP and SIP

(C) H.323 and VoIP
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(D) H.323 and SIP

Which language is directly understood by the
computer without translation program?

(A) High level language
(B) BASIC language
(C) Assembly language

(D) None of the options

Which of the following is correct :-

(a) CAT 5 cable can support transmission speed
upto 1000Mbps

(b) CAT 6 cable can support transmission speed
upto 10Gbps

(c) CAT 6a cable can support transmission speed
upto 1000Mbps

(d) CAT 5e, CAT6 and CAT6a cable can support
transmission speed of 1000 Mbps

(A) Both (a) and (¢ )

(B) Only (d)

(C) Both (c) and (d )

(D) Only (b)

Which Layer is not present in TCP/ IP model?
(A) Application Layer

(B) Internet Layer

(C) Presentation Layer

(D) Transport Layer

Which of the following tags provides a hint to the
user of what can be entered in the field in
HTML5?

(A) Anchor

(D)

(B)

©

(B)
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(B) Placeholder
(C) Autofocus

(D) Auto tab

Phishing is a form of
(A) Intrusion

(B) Identity Theft
(C) Spamming

(D) Impersonation

The property used to arrange DIVs one above or
behind the other

(A) d-index
(B) x-index
(C) z-index

(D) layered

Which of the following is correct ?

(A) NTFS is a proprietary journaling file system
developed by Microsoft

(B) Linux operating systems can read from NTFS
but cannot write

(C) Linux operating systems can't write to and
read from NTFS

(D) None of the options

A computer can address more memory than the
amount physically installed on the system. This
extra memory is actually called

(A) Extended Buffer

(B) Virtual Memory

(D)

©

(A)

(B)
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(C) Virtual Cache

(D) Redundant memory

Compromising confidential information comes
under

(A) Vulnerability
(B) Threat
(C) Risk

(D) Attack

A 32 bit operating system cannot generally
address more than  GB RAM

(A)2

(B)4

©)6

(D) 8

The version number of the mobile operating
system Android released in the year 2020
(A)9

(B) 10

O 11

(D) 12

The last amendment of the Indian IT Act 2000
was on

(A) 2008
(B) 2010
(C) 2015

(D) 2020

(B)

(B)

©

(A)
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What is the standard length of MAC address in
bits:

(A) 32
(B) 48
(C) 64

(D) 128

The public IP addresses are issued by
(A) IEEE

(B) IANA

(C)ISO

(D) None of the options

The three principles in the CIA triad is
(A) Consistency, Isolation,Availability
(B) Confidentiality, Isolation, Availability
(C) Concurrency, Integrity, Access

(D) Confidentiality, Integrity, Availability

When the mail server sends an email to other mail
servers it becomes

(A) SMTP Client
(B) SMTP Server
(C) IMAP Server

(D) None of the options

A page fault occurs when
(A) The page is not found in the memory

(B) The page is found in the memory

(B)

(B)

(D)

(A)

(A)
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(C) The segmentation starts

(D) The deadlock happens

The data transfer speed is highest for
(A) SATA Disks

(B) SAS Disks

(C) PATA Disks

(D) IDE Disks

____is an attack meant to shut down a machine or
network, making it inaccessible to its intended
users

(A) Whaling

(B) Interception

(C) DoS

(D) Freezing

Which of the following is not an email
communication protocol?

(A) SMTP

(B) IMAP

(C) RARP

(D) None of the options

(B)

©

©)
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is an information security standard
series

(A) ISO 27000
(B) ISO 26000
(C) ISO 9000

(D) ISO 30000

The size of an IPv6 address is
(A) 32 Bit

(B) 64 Bit

(C) 128 Bit

(D) 256 Bit

SAAS stands for?

(A) Software as a service

(B) System Software and services
(C) Software as a system

(D) System as a service

Which type of memory holds only the program
and data that the CPU is presently processing?

(A) CMOS
(B) ROM
(C) RAM

(D) ASCII

"Select * from employee" What type of statement
is this?

(A) DML

(A)

©)

(A)

©

(A)
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(B) DDL
(C) View

(D) Integrity constraint

To remove a relation from an SQL database, we
use the command.

(A) Delete

(B) Purge

(C) Remove

(D) Drop

A system isin a state if there exists a set

of transactions such that every transaction in the
set is waiting for another transaction in the set.

(A) Idle

(B) Waiting

(C) Deadlock

(D) Ready

s high-level programming language
created by the German ERP software company
SAP SE.

(A) Python

(B) Hadoop

(C) ABAP

(D)R

A malicious code hidden inside a seemingly
harmless piece of code.

(A) Worm

(B) Bomb

(D)

©)

©)

©
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(C) Trojan Horse

(D) Virus

Linux Command to report file system disk space
usage

(A)ls

(B) df

(C) dir

(D) rpt

Machine that places the request to access the data
is generally called as

(A) Server Machine
(B) Client Machine
(C) Request Machine

(D) None of the options

Which short keys is used to "Quickly create a
bullet point" in MS Word?

(A) Ctrl+Shift+L
(B) Ctrl+Shift+B
(C) Ctrl+Shift+>

(D) Ctrl+X

Programming Language used in MS Excel for
creating macros.

(A) VB.net
(B) VBA
(C)C#

(D) asp.net

(B)

(B)

(A)

(B)

04-12-2020, 14:34



Firefox

110

110

110

110

110

16 of 18

03-12-2020

03-12-2020

03-12-2020

03-12-2020

03-12-2020

719

720

721

722

723

http://202.191.132.32/postExam/qp_check dashboard.php?exam=Y3N...

Which of the following tag is used to embed css
in html page?

(A) <script>
(B) <style> (B)
(C) <css>

(D) <!DOCTYPE html>

What could cause a fixed disk error?

(A) No-CD installed

(B) Bad RAM (D)
(C) Slow processor

(D) Incorrect CMOS settings

The 8-bit encoding format used to store data in a
computer is

(A) ASCII
(B) EBCDIC (B)
(C) ANCI

(D) USCII

A logical structure of the database.

(A) Schema

(B) Attribute (A)
(C) Parameter

(D) Instance

Command to run shell script "backup.sh" in
Linux

(A)
(A) ./backup.sh

04-12-2020, 14:34
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(B) run backup.sh
(C) !/backup.sh

(D) exec backup.sh

Command to copy all directory to "file.txt" in
Windows OS

(A) COPY DIR file.txt
(B) DIR >> file.txt
(C) MOVE DIR file.txt

(D) DIR TO file.txt

masks your IP address.
(A) Firewall
(B) Antivirus
(C) VPN

(D) Incognito mode

What is the natural mask for a class C Network?
(A) 255.255.255.1

(B) 255.255.255.0

(C) 255.255.255.254

(D) 255.255.255.255

In the given query which of the keyword has to
be inserted?

"INSERT INTO CSL (1002,J0s,2000);"
(A) where
(B) field

(C) values

(B)

©

(B)

©)

04-12-2020, 14:34



Firefox

18 of 18

110

110

110

03-12-2020

03-12-2020

03-12-2020

728

729

730

http://202.191.132.32/postExam/qp_check dashboard.php?exam=Y3N...

(D) table

In Excel, which one denotes a range from B1
through E5

(A) BI-E5
(B) B1.ES
(C) B1:ES

(D) BISES

Telnet protocol is used to establish a connection
to

(A) TCP port number 21
(B) TCP port number 22
(C) TCP port number 23

(D) TCP port number 24

The term used to refer to a table row
(A) Attribute

(B) Tuple

(C) Field

(D) Instance

©)

©

(B)
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